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QUESTION 1

Which of the following rated systems of the Orange book has mandatory protection of the TCB? 

A. A-rated 

B. C-rated 

C. B-rated 

D. D-rated 

Correct Answer: C 

 

QUESTION 2

Which of the following statements about a fiber-optic cable are true? Each correct answer represents a complete
solution. Choose three. 

A. It is immune to electromagnetic interference (EMI). 

B. It can transmit undistorted signals over great distances. 

C. It has eight wires twisted into four pairs. 

D. It uses light pulses for signal transmission. 

Correct Answer: ABD 

 

QUESTION 3

Which of the following rate systems of the Orange book has no security controls? 

A. C-rated 

B. D-rated 

C. A-rated 

D. E-rated 

Correct Answer: B 

 

QUESTION 4

SSH is a network protocol that allows data to be exchanged between two networks using a secure channel. Which of
the following encryption algorithms can be used by the SSH protocol? Each correct answer represents a complete
solution. Choose all that apply. 
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A. Blowfish 

B. DES 

C. RC4 

D. IDEA 

Correct Answer: ABD 

 

QUESTION 5

In which of the following DoS attacks does an attacker send an ICMP packet larger than 65,536 bytes to the target
system? 

A. Fraggle 

B. Ping of death 

C. Jolt 

D. Teardrop 

Correct Answer: B 
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